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Section | Structure and Vocabulary

Part A

Directions;



Beneath each of the following sentences, there are four choices
marked [A], [B], [Cland [D]. Choose the one that best com-
pletes the sentence. Mark your answer on ANSWER SHEET 1 by
blackening the corresponding letter in the brackets with a pencil. (5
points)

Example:
I have been to the Great Wall three times 1979.

[Alfrom [Blafter [Clfor [D]since
The sentence should be read, “I have been to the Great Wall three
times since 1979." Therefore, you should choose [D].

Sample Answer
[A][B][C] ==

1. By the time you arrive in London, we in Europe for
two weeks.
[A] shall stay [B] have stayed
[C] will have stayed [D] have been staying

2. I appreciated the opportunity to study abroad two years
ago.

[A] having been given  [B] having given
[C] to have been given [D]to have given
3. Living in the central Australian desert has its problems,

obtaining water is not the least.

[A] of which [B] for what
[C] as [D] whose
4. The heart is intelligent than the stomach, for they are
both controlled by the brain.
[A] not so [B] not much
[C] much more [D] no more
5. the fact that his initial experiments had failed, Prof.



White persisted in his research.
[ A] Because of [B] As to
[C] In spite of [D] In view of
6. Jean Wagner’s most enduring contribution to the study of Afro-
American poetry is his insistence that it in a religious,
as well as worldly, frame of reference.
[A] is to be analyzed [B] has been analyzed
{C] be analyzed {D] should have been analyzed
7. The millions of calculations involved, had they been done by

hand, all practical value by the time they were
finished.
[A] could lose [B] would have lost
[C] might lose [D] ought to have lost

8. No bread eaten by man is so sweet as earned by his
own labour.
[Alone  [B] that [Clsuch  [D] what

9. It isn’t cold enough for there a frost tonight, so I can

leave Jim’s car out quite safely.

{A] would be (B] being
[C] was [D] to be
10. Scientists generally agree that the Earth’s climate will warm up
over the next 50 to 100 years it has warmed in the
20 000 years since the Ice Age.
[A] as long as [ Blas much as
[C] as soon as [D] as well as
Part B
Directions:

Beneath each of the following sentences, there are four choices
. 7 .

¥



marked {A],[B].[C] and [D]. Choose the one that best completes
the sentence. Mark your answer on ANSWER SHEET 1 by black-

ening the corresponding letter in the brackets with a pencil. (10

points)
Example:
The lost car of the Lees was found _ in the woods off the
highway.
[ A] vanished [B] scattered
[C] abandoned [D] rejected

The sentence should be read, “ The lost car of the Lees was found
abandoned in the woods off the highway.” Therefore, you should
choose [C].
Sample Answer
(Al[B]mm[D]
{1. In that country, guests tend to feel they are not highly
if the invitation to a dinner party is extended only

three or four days before the party date.

[A] admired [B] regarded
[C] expected [D] worshipped
12. A of the long report by the budget committee was
submitted to the mayor for approval.
[A] shorthand {B] scheme
[C] schedule [D] sketch

13. When confronted with such questions, my mind goes
_ , and I can hardly remember my own date of birth.
[A] dim [ B] blank [C] faint [D] vain

14. One reason for the successes of Asian immigrants in the U.S.is
that they have taken great to educate their children.
[A] efforts [B] pains
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15.

16.

17.

18.

19.

20.

21.

22.

[C] attempts {D] endeavours
It is well-known that the retired workers in our country are
free medical care.

[A] entitled to [B] involved in

[C] associated with [D] assigned to

The farmers were more anxious for rain than the people in the
city because they had more at .

[A] danger [B] stake [C] loss {D] threat

I felt to death because I could make nothing of the
chairman’s speech.

[A] fatigued [B] tired

[C] exhausted [D] bored

Care should be taken to decrease the length of time that one is

loud continuous noise.

[A] subjected to [B] filled with

[C] associated with [D] attached to

While typing, Helen has a habit of stopping to give
her long and flowing hair a smooth.

[A] occasionally [B] simultaneously

[C] eventually [ D] spontaneously

He failed to carry out some of the provisions of the contract,
and now he has to the consequences.

[A] answer for [B] run into

[C] abide by [D] step into

It is well-known that knowledge is the condition for
expansion of mind.

[A] incompatible [B] incredible

[C] indefinite [D] indispensible

People that vertical flight transports would carry mil-

.9 .



23.

24.

25.

26.

27.

28.

29.

lions of passengers as do the airliners of today.

[A] convinced [B] anticipated
[C] resolved [D] assured
Your improper words will give __ to doubts concerning

your true intentions.

[A] rise [B] reason

[C] suspicion [D] impulse

The mother said she would __ her son washing the dishes if
he could finish his assignment before supper.

[A] let down [B] let alone

[C] let off [D] let out

We should always keep in mind that ___ decisions often

lead to bitter regrets.

[A] urgent [B] hasty

[C] instant [D] prompt

John complained to the bookseller that there were several pages

in the dictionary.

[A] missing [B] losing

[C] dropping [D] leaking

In the past, most foresters have been men, but today, the num-
ber of women this field is climbing.

[A] engaging [B] devoting

[C] registering [D] pursuing

The supervisor didn’t have time so far to go into it ,

but he gave us an idea about his plan.

[A] at hand [B] in turn

[C] in conclusion [D] at length

Their demand for a pay raise has not the slightest of
being met.
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[A] prospect [B] prediction
[C] prosperity {D] permission
30. It’ s usually the case that people seldom behave in a
way when in a furious state.
[A] stable [B] rational
[C] legal [D] credible

Section I Cloze Test

Directions:

For each numbered blank in the following passage, there are
four choices marked [A],[B],[C] and [D]. Choose the best one
and mark your answer on ANSWER SHEET 1 by blackening the
corresponding letter in the brackets with a pencil. (10 points)

During the 1980s, unemployment and underemployment in
some countries was as high as 90 per cent. Some countries did not
__ 31 enough food; basic needs in housing and clothing were not
32 . Many of these countries looked to the industrial processes
of the developed nations 33  solutions.

34 , problems cannot always be solved by copying the in-
dustrialized nations. Industry in the developed nations is. highly au-
tomated and very 35 . It provides fewer jobs than labor-inten-
sive industrial processes, and highly 36  workers are needed to
37  and repair the equipment. These workers must be trained,

38 many nations do not have the necessary training
institutions. Thus, the 39  of importing industry becomes high-
er. Students must be sent abroad to 40  vocational and profes-
sional training. 41 , just to begin training, the students must _
42  learn English, French, German, or Japanese. The students
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then spend many years abroad, and 43  do not return home.

All nations agree that science and technology 44  be shared.
The point is: countries 45  the industrial processes of the devel-
oped nations need to look carefully 46  the costs, because many
of these costs are 47 . Students from these nations should 48
the problems of the industrialized countries closely. 49  care,
they will take home not the problems of science and technology,

50  the benefits.

31. [A] generate [B] raise
[C] produce [D] manufacture
32. [A] answered [B] met
[C] calculated [D] remembered
33. [A] for [B] without
[C] as [D] about
34. [A] Moreover [B] Therefore
[C] Anyway [D] However
35. {A] expensive [B] mechanical
[C] flourishing [D] complicated
36. [A] gifted [B] skilled
[C] trained [D] versatile
37. [A] keep [B] maintain
[C] retain [D] protect
38. [A] since [B] so
[C] and [D] yet
39. [A] charge [B] price
[C] cost [D] value
40. [A] accept {B] gain
[C] receive [D] absorb
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